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BOOKS - RD SHARMA MATHS (HINGLISH)

COMBINATIONS

Solved Examples And Exercises

1. A number of 18 guests have to be seated, half

on
 each side of a long table. Four particular

guests desire to sit on one
 particular side and

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zHwVQd2KfMXl


three others on the other side. Determine the

number of
 ways in which the sitting

arrangements can be made.

Watch Video Solution

2. A boy has 3 library tickets and 8 books of his

interest in the library.
 Of these 8, he does not

want to borrow Chemistry part II, unless

Chemistry
 Part I is also borrowed. In how many

ways can be choose the
 three books to be

borrowed?

Watch Video Solution

https://dl.doubtnut.com/l/_zHwVQd2KfMXl
https://dl.doubtnut.com/l/_qenVH6n96gIy


3. Find the number of combinations and

permutations of 4 letters taken
 from the word

‘EXAMINATION’.

Watch Video Solution

4. Given 11 points, of which 5 lie on one circle,

other than these 5, no 4 lie on one circle. Then

the maximum number of circles that can be

drawn so that each contains atleast three of the

given points is

https://dl.doubtnut.com/l/_qenVH6n96gIy
https://dl.doubtnut.com/l/_WvyP0bWZCJRx
https://dl.doubtnut.com/l/_RhFOKFWFKhts


Watch Video Solution

5. The value of

is (A)  (B)  (C)  (D) 

Watch Video Solution

(.7 C0 + .7 C1) + (.7 C1 + .7 C2) + (.7 C6 + .7 C7)

27 − 1 28 − 2 28 − 1 28

6. Let  and  be positive integers such that

. Then prove the following:

Watch Video Solution

r n

1 ≤ r ≤ n

n + n − 1Cr− 1 = (n − r + 1){}nCr− 1

https://dl.doubtnut.com/l/_RhFOKFWFKhts
https://dl.doubtnut.com/l/_nucbZLN2if9w
https://dl.doubtnut.com/l/_wIVmvooMbyON


7. Let 
be non negative integers such that


Then, 

Watch Video Solution

n and r

1 ≤ r ≤ n.  nCr = .  n− 1Cr− 1 .
n

r

8. If 
 then 

Watch Video Solution

1 ≤ r ≤ n,

 nn− 1Cr = (n − r + 1) nCr− 1.

9. If  nCx =   nCy and x ≠ y,  then x + y = n.

https://dl.doubtnut.com/l/_wIVmvooMbyON
https://dl.doubtnut.com/l/_tFVuBSZCSeYd
https://dl.doubtnut.com/l/_AKkTj0iJAtQz
https://dl.doubtnut.com/l/_ksCgTYu7w4Gl


Watch Video Solution

10. If 
find the value of 

A. 3

B. 7

C. 10

D. 4

Answer: A

Watch Video Solution

 10Cx =   10Cx+ 4, x.

https://dl.doubtnut.com/l/_ksCgTYu7w4Gl
https://dl.doubtnut.com/l/_SRopeMLFVXKo
https://dl.doubtnut.com/l/_iE7DxWpOP12m


11. Evaluate the following: 

Watch Video Solution

 10C8

12. Evaluate the following: 

Watch Video Solution

 100C98

13. Evaluate the following: 

Watch Video Solution

 52C52

https://dl.doubtnut.com/l/_iE7DxWpOP12m
https://dl.doubtnut.com/l/_1x0qWWreFREd
https://dl.doubtnut.com/l/_LPFPumY95k1B
https://dl.doubtnut.com/l/_rhKF2AcezpjB


14. If the ratio 
. 
is equal to 11:1 find 

Watch Video Solution

  2nC3   nC3 n.

15. Prove that: 

Watch Video Solution

= (2n[1. 3. 5(2n − 1)])
2n !

n !

16. If 

Watch Video Solution

 n+ 2C8. n− 2P4 = 57: 16,  f ∈ d n

https://dl.doubtnut.com/l/_rhKF2AcezpjB
https://dl.doubtnut.com/l/_4LXCvEZpaVyJ
https://dl.doubtnut.com/l/_T7J6B3mLTrps


17. Evaluate the following: 

A. 2184

B. 364

C. 728

D. None of these

Answer: B

Watch Video Solution

 14C3

18. Evaluate the following:  12C10

https://dl.doubtnut.com/l/_r6M00RHLmf7r
https://dl.doubtnut.com/l/_kODoDGmVivK3


Watch Video Solution

19. Evaluate the following: 

Watch Video Solution

 35C35

20. Evaluate the following: 

Watch Video Solution

 n+ 1Cn

21. Evaluate the following:  
5

∑
r= 1

 5Cr

https://dl.doubtnut.com/l/_kODoDGmVivK3
https://dl.doubtnut.com/l/_OBz384U2rCNa
https://dl.doubtnut.com/l/_dYg99JBd17bP
https://dl.doubtnut.com/l/_hoA5Qi2Dqdxp


Watch Video Solution

22. If 
find the value of 

Watch Video Solution

 nC12 =   nC5, n

23. If  find

Watch Video Solution

 nC10 =   nC12  23Cn

24. If  find 

Watch Video Solution

 18Cx =  18Cx+ 2 x

https://dl.doubtnut.com/l/_hoA5Qi2Dqdxp
https://dl.doubtnut.com/l/_9SWDNNfseAqV
https://dl.doubtnut.com/l/_CnGHoshU9hkO
https://dl.doubtnut.com/l/_CusIJogtRqgO


25. If  find 

A. 2

B. 3

C. 4

D. None of these

Answer: B

Watch Video Solution

 8Cr −  7C3  =7 C2 r

https://dl.doubtnut.com/l/_CusIJogtRqgO
https://dl.doubtnut.com/l/_xvjwf2B15dLK


26. If 
find 

Watch Video Solution

.n+ 2 C8 :n− 2 P4 : : 57: 16, n

27. If , find 

Watch Video Solution

 16Cr =   16Cr+ 2 '
rC4

28. If , find

Watch Video Solution

 nC4 =   nC6 .12 Cn.

https://dl.doubtnut.com/l/_ZvvqWjDl2yGq
https://dl.doubtnut.com/l/_WDRUOELKoSjS
https://dl.doubtnut.com/l/_mXgeoy4ahyok
https://dl.doubtnut.com/l/_eP8XN3O0HoOc


29. If  find x

Watch Video Solution

 24Cx =  24C2x+ 3

30. If ,find r

Watch Video Solution

 15C3r =  15Cr+ 3

31. If  find r

Watch Video Solution

 15Cr :  15Cr− 1 = 11: 5

https://dl.doubtnut.com/l/_eP8XN3O0HoOc
https://dl.doubtnut.com/l/_KqVT4QkGIZJg
https://dl.doubtnut.com/l/_Usc388DhqUWl


32. If  ,find r

Watch Video Solution

 28C2r :  24C2r− 4 = 225: 11

33. If , find n

Watch Video Solution

 2nC3 :  nC2 = 44: 3

34. If 
then find the value of 

Watch Video Solution

α =   mC2,  αC2.

https://dl.doubtnut.com/l/_Yjg4JcsHiHLw
https://dl.doubtnut.com/l/_8TkrrPqAKxmS
https://dl.doubtnut.com/l/_2DtY5JO6CGGD
https://dl.doubtnut.com/l/_Lz915OIDYByJ


35. For all positive integers 
 show that 


.

Watch Video Solution

n,

 2nCn +  2nCn− 1 = ( 2n+ 2Cn+ 1)
1

2

36. From a class of 32 students, 4 are to be

chosen for a competition. In
how many ways can

this be done?

Watch Video Solution

https://dl.doubtnut.com/l/_Lz915OIDYByJ
https://dl.doubtnut.com/l/_XnAZ2iH4ymFH


37. Three gentlemen and three ladies are

candidates for two vacancies. A
voter has to vote

for two candidates. In how many ways can one

cast his vote?

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

 3C1.3 C1

 6C2

 3C1

https://dl.doubtnut.com/l/_8ojHF5oC75Qp


38. If there are 12 persons in a party, and if each

two of them shake hands
 with each other, how

many handshakes happen in the party?

A. 66

B. 132

C. 12

D. 11

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_8ojHF5oC75Qp
https://dl.doubtnut.com/l/_PlYpE9IFwTOO


39. A question paper has two parts, Part A and

party B each containing 10
 questions. If a

student has to chose 8 from Part A and 5 from

Part B, in how
 many ways can he choose the

questions?

Watch Video Solution

40. In how many ways a committee of 5 member

can be selected from 6 men and
 5 women,

consisting of 3 men 2 women?

Watch Video Solution

https://dl.doubtnut.com/l/_Euy4AqOZtbnc
https://dl.doubtnut.com/l/_tKmkXi8d4n6t


41. A committee of 3 persons is to be constituted

from a group of 2
 men and 3 women. In how

many ways can this be done? How many of these

committees would consist of 1 man and 2

women?

Watch Video Solution

42. What is the number of ways of choosing 4

cards from a pack of 52
 playing cards? In how

many of these
 Four cards are of the same suit?

https://dl.doubtnut.com/l/_tKmkXi8d4n6t
https://dl.doubtnut.com/l/_HZVKqbdF8XPb
https://dl.doubtnut.com/l/_ffnUHjWhMSRa


For cards are face cards?
 Cards are of the same

colour?
 Four cards belong to four different

suits?
 Two aqre red cards and two are black

cards?

Watch Video Solution

43. Out of 5 men and 2 women, a committee of 3

is to be formed. In how many
 ways can it be

formed if at least one woman is to be included?

Watch Video Solution

https://dl.doubtnut.com/l/_ffnUHjWhMSRa
https://dl.doubtnut.com/l/_HKxRhUUtkoG9
https://dl.doubtnut.com/l/_85HbcMSHQVaj


44. For the post of 5 teachers, there are 23

applicants, 2 posts are
 reserved for SC

candidates and there are 7 SC candidates among

the
 applicants. In how many ways can he

selection be made?

Watch Video Solution

45. How many triangles can be formed by joining

the vertices of a hexagon?

A. 20

B. 6

https://dl.doubtnut.com/l/_85HbcMSHQVaj
https://dl.doubtnut.com/l/_Dk6hAt2LnX5M


C. 10

D. 30

Answer: A

Watch Video Solution

46. A polygon has 44 diagonals. The number of

its sides are

Watch Video Solution

https://dl.doubtnut.com/l/_Dk6hAt2LnX5M
https://dl.doubtnut.com/l/_MOnmWJ4Izfcw


47. From a class of 25
 students, 10 are to be

chosen for an excursion party. There are 3

students
who decide that either all of them will

join or none of them will join. In
how many ways

can the excursion party be chosen?

Watch Video Solution

48. In how many ways can 7 plus (+) and 5 minus

(-) signs be arranged in a row so that no two

minus (-) signs are together?

Watch Video Solution

https://dl.doubtnut.com/l/_20uTamVGgI4h
https://dl.doubtnut.com/l/_yzs1o6GPQtYi


49. In how many ways can 21 books on English

and 19 books on Hindi be placed in a row on a

shelf so that two books on Hindi may not be

together? (A)  (B)  (C)  (D) 

Watch Video Solution

770 385 1540 399

50. From a group of 15 cricket players, a team of

11players is to be
chosen. In how many ways can

this be done?

Watch Video Solution

https://dl.doubtnut.com/l/_yzs1o6GPQtYi
https://dl.doubtnut.com/l/_bTvZwk1t2tDA
https://dl.doubtnut.com/l/_tLIbMgboL6NA


51. How many different boat parties of 8,

consisting of 5 boys and 3 girls,
 can be   made

from 25 boys and 10 girls.

Watch Video Solution

52. In how many ways can a student choose a

programme of 5 courses if
 9 courses are

available and 2 specific courses are compulsory

for every
student?

Watch Video Solution

https://dl.doubtnut.com/l/_tLIbMgboL6NA
https://dl.doubtnut.com/l/_7eQpDN9EY156
https://dl.doubtnut.com/l/_FI16t9wAEnT9


53. In how many ways can a football team of 11

players be selected from 16
players? How many of

these will i. include 2 particular players? Ii.

exclude
2 particular players?

Watch Video Solution

54. There are 10 professors and 20 students out

of whom a committee of 2
 professors and 3

students is to be formed. Find the number of

ways in which
 this can be done. Further find in

https://dl.doubtnut.com/l/_FI16t9wAEnT9
https://dl.doubtnut.com/l/_S8ub1cuwi1XP
https://dl.doubtnut.com/l/_x8G8aj5RypT9


how many of these committees:

A particular professor is included


A particular student is included

A Particular student is excluded

Watch Video Solution

55. How many different products can be obtained

by multiplying two or more of the numbers 3, 5,7,

11 (without repetition)?

Watch Video Solution

https://dl.doubtnut.com/l/_x8G8aj5RypT9
https://dl.doubtnut.com/l/_br2qBPVqppYM
https://dl.doubtnut.com/l/_LoLQnNvMEBII


56. From a class of 12 boys and 10 girls, 10

students are to be chosen for a competition; at

leastincluding 4 boys and 4 girls. The 2 girls who

won the prizes last year should be included. In

how many ways can the selection be made?

Watch Video Solution

57. How many different selections of 4 books can

be made from 10 different
 books, if
 There is no

restriction
 Tow particular books are always

selected;
 Two particular books are never

selected?

https://dl.doubtnut.com/l/_LoLQnNvMEBII
https://dl.doubtnut.com/l/_IvoUow77VGsc


Watch Video Solution

58. From 4 officers and 8 jawans in how many

ways can 6 be chose
 To include exactly one

officer To include at least one officer?

Watch Video Solution

59. A sports team of 11 students is to be

constituted, choosing at least 5 from class XI and

at least 5 from class XII. if there are 20 students

in each of these classes, in how many ways can

https://dl.doubtnut.com/l/_IvoUow77VGsc
https://dl.doubtnut.com/l/_wnKPv3baq3p3
https://dl.doubtnut.com/l/_RikUnaKw5quF


the team be constituted. What is the importance

of sports in one's life ?

Watch Video Solution

60. 21.A student has to answer 10 questions,

choosing at least 4 fromeach of part A and B. If

there are 6 questions in part A and 7 inpart B. In

how many ways can the student choose 10

questions?

Watch Video Solution

https://dl.doubtnut.com/l/_RikUnaKw5quF
https://dl.doubtnut.com/l/_tu2xwxrUMW7e
https://dl.doubtnut.com/l/_K8Ma49PYBO6S


61. In an examination a student has to answer 4

questions out of 5
 questions; questions 1 and 2

are however compulsory. Determine the number

f
ways n which the student can make the choice.

Watch Video Solution

62. A group consists
of 4 girls and 7 boys. In how

many ways can a team of 5 members be selected

if the team has (i) no girl ? (ii) at least one
 boy

and one girl ?
(iii) at least 3
girls ?

Watch Video Solution

https://dl.doubtnut.com/l/_K8Ma49PYBO6S
https://dl.doubtnut.com/l/_idh9YfFoBBC6


63. A committee of 3 persons is to be constituted

from a group of 2
 men and 3 women. In how

many ways can this be done? How many of these

committees would consist of 1 man and 2

women?

Watch Video Solution

64. Find the number of i. diagonals ii. triangles

formed in a decagon.

Watch Video Solution

https://dl.doubtnut.com/l/_yHUwkbKSiJDK
https://dl.doubtnut.com/l/_CJxUmybfxvsO


65. Determine the
 number of 5-card

combinations out of a deck of 52 cards if each

selection of
5 cards has exactly one king.

Watch Video Solution

66. In how many ways
can a team of 3 boys and 3

girls be selected from 5 boys and 4 girls?

Watch Video Solution

https://dl.doubtnut.com/l/_3XyGtbnQXYvg
https://dl.doubtnut.com/l/_oYaTQcuEk5tZ


67. Find the number of
 ways of selecting 9 balls

from 6 red balls, 5 white balls and 5 blue balls if

each selection consists of 3 balls of each colour.

Watch Video Solution

68. Determine the
 number of 5 card

combinations out of a deck of 52 cards if there is

exactly
one ace in each combination.

Watch Video Solution

https://dl.doubtnut.com/l/_lXACKFmgdd75
https://dl.doubtnut.com/l/_Y3IZ92wPfznU


69. In how many ways can one select a cricket

team of eleven from 17 players
 in which only 5

players can bowl if each cricket team of 11 must

include
exactly 4 bowlers?

Watch Video Solution

70. A bag contains 5
 black and 6 red balls.

Determine the number of ways in which 2 black

and 3
red balls can be selected.

Watch Video Solution

https://dl.doubtnut.com/l/_ODq4KO3pCTYN
https://dl.doubtnut.com/l/_LJZqqm9n7Wx1


71. In how many ways can a student choose a

programme of 5 courses if
 9 courses are

available and 2 specific courses are compulsory

for every
student?

Watch Video Solution

72. A committee of 7
 has to be formed from 9

boys and 4 girls. In how many ways can this be

done
when the committee consists of:
 (i) exactly

3
girls ? (ii) atleast 3 girls ? (iii) atmost 3 girls ?

Watch Video Solution

https://dl.doubtnut.com/l/_jYl2csrl6UdO
https://dl.doubtnut.com/l/_enqhsDmB4DCB


73. In an examination, a question paper consists

of 12 questions
 divided into two parts i.e., Part I

and Part II, containing 5 and 7
 questions,

respectively. A student is required to attempt 8

questions in all,
 selecting at least 3 from each

part. In how many ways can a student select
the

questions?

Watch Video Solution

https://dl.doubtnut.com/l/_enqhsDmB4DCB
https://dl.doubtnut.com/l/_HsfmmarNaHKs


74. Out of 7 consonants and 4 vowels. how many

words of 3 consonant and 2 vowels can be

formed?

Watch Video Solution

75. how may four letter words can be formed

using het letters of the word
FAILURE so that F is

included in each word?
 F is not include in any

word?

Watch Video Solution

https://dl.doubtnut.com/l/_inBV42WanoIP
https://dl.doubtnut.com/l/_ysfp3h29tKYG


76. How many words, with or without meaning,

can be formed using all
 the letters of the word

EQUATION at a time so that the vowels and

consonants
occur together?

Watch Video Solution

77. How many five letter words containing 3

vowels and 2 consonants can be
 formed using

the letters of the word EQUATION  
 so that the

two consonants occur together?

Watch Video Solution

https://dl.doubtnut.com/l/_96KTUDtqIk3A
https://dl.doubtnut.com/l/_eGyK3KUWtgZE


78. How many words, with or without meaning,

each of 2 vowels and 3
 consonants can be

formed from the letters of the word DAUGHTER ?

Watch Video Solution

79. The English alphabet has 5 vowels and 21

consonants. How many
words with two different

vowels and 2 different consonants can be formed

from
the alphabet?

Watch Video Solution

https://dl.doubtnut.com/l/_eGyK3KUWtgZE
https://dl.doubtnut.com/l/_zTT49VXDBpAB
https://dl.doubtnut.com/l/_OuA7LmLwqNiz


80. In how many ways can 5 girls and 3 boys be

seated in a row so that
 no two boys are

together?

Watch Video Solution

81. How many different words, each containing 2

vowels and 3 consonants can
 be formed with 5

vowels and 17 consonants?

Watch Video Solution

https://dl.doubtnut.com/l/_OuA7LmLwqNiz
https://dl.doubtnut.com/l/_8BH4u23sRkqL
https://dl.doubtnut.com/l/_KTymiXkqnfsu


82. There are 10 persons named

. Out of 10 persons, 5 persons

are to be arranged in a line such that is each

arrangement  must occur whereas  and 

do not occur. Find the number of such possible

arrangements.

Watch Video Solution

P1, P2, P3..., P10

P1 P4 P5

83. Find the number of permutations of n

distinct things taken r together, in which 3

particular things must occur together.

https://dl.doubtnut.com/l/_hxy8Ifk4ikmQ
https://dl.doubtnut.com/l/_flqPQkPMlgEy


Watch Video Solution

84. How many words, with or without meaning,

each of 3 vowels and 2
 consonants can be

formed from the letters of the word INVOLUTE?

Watch Video Solution

85. The number of permutations of n things

taken r at a time if 3 particular things always

occur is

Watch Video Solution

https://dl.doubtnut.com/l/_flqPQkPMlgEy
https://dl.doubtnut.com/l/_Tk1x2Ah0LTJO
https://dl.doubtnut.com/l/_9D771FVPYMxK


86. How many words,
 with or without meaning

can be made from the letters of the word

MONDAY,
 assuming that no letter is repeated, if.

(i)                4 letters are used at a time,
 (ii)              all

letters are used at a time,
 (iii)            all letters are

used but first letter is
a vowel?

Watch Video Solution

87. If  then all the

values of  are

C(35, n + 7) = C(35, 4n − 2)

n

https://dl.doubtnut.com/l/_9D771FVPYMxK
https://dl.doubtnut.com/l/_ReXwOKZaU5WX
https://dl.doubtnut.com/l/_acOeFlFkgRAQ


Watch Video Solution

88. Write the number of diagonals of an n-sided

polygon.

Watch Video Solution

89. Write the expression


 in the simplest

form.

Watch Video Solution

 nCr+ 1 +  nCr− 1 + 2 ×  nCr

https://dl.doubtnut.com/l/_acOeFlFkgRAQ
https://dl.doubtnut.com/l/_YyPsJHA4T0iq
https://dl.doubtnut.com/l/_otxa5IOhwARn


90. There are 3 letters and 3 directed envelopes.

Write the number of ways
 in which no letter is

put in the correct envelope.

Watch Video Solution

91. Write the maximum number of points of

intersection of 8 straight lines
in a plane.

Watch Video Solution

https://dl.doubtnut.com/l/_pP8ttsuHV47s
https://dl.doubtnut.com/l/_5Y9M37Qi8AhK


92. The number of parallelograms that can be

formed from a set of four parallel lines

intersecting another set of three parallel lines is:

Watch Video Solution

93. The number of ways in which 12 students can

be equally divided into three groups is

Watch Video Solution

https://dl.doubtnut.com/l/_nFzJ7Y1Ky73z
https://dl.doubtnut.com/l/_ZgTfzSEtup06


94. Write the total number of words formed by 2

vowels and 3 consonants
 taken from 4 vowels

and 5 consonants.

Watch Video Solution

95. If 
 is equal to
 a.

4896 b. 816 c. 1632 d. none of these

Watch Video Solution

 20Cr =  20Cr− 10,  then  18Cr

https://dl.doubtnut.com/l/_7cGw9fIEsK2L
https://dl.doubtnut.com/l/_NE7zaNJUwDXE


96. If 
 is equal to
 a.

54 b. 56 c. 58 d. none of these

Watch Video Solution

 20Cr =  20Cr+ 4,  then  rC3

97. If 
 is equal to
 a. 5 b.

4 c. 3 d. 2

Watch Video Solution

 15C3r =   15Cr+ 3 then r

98. If 
 is equal to
 a.

10 b. 11 c. 19 d. 12

 20Cr+ 1 =   20Cr− 1,  then r

https://dl.doubtnut.com/l/_HAnZKZnjfF3X
https://dl.doubtnut.com/l/_RRmk9FZQgjuT
https://dl.doubtnut.com/l/_Yqf1ouiU2s3A


Watch Video Solution

99. If 
 is

equal to
a. 231 b. 210 c. 252 d. 303

Watch Video Solution

C(n, 12) = C(n, 8),  then C(22, n)

100. If 
 then
 
 m=(n-1)

2n=m(m-1)`

Watch Video Solution

 C _ 1 =   n2 2m = n d.

https://dl.doubtnut.com/l/_Yqf1ouiU2s3A
https://dl.doubtnut.com/l/_kLl06Fkr56WY
https://dl.doubtnut.com/l/_Zot8S2nAFxxu
https://dl.doubtnut.com/l/_QjpHYmGQQwbN


101. If 
then n 
a. 20 b. 12 c. 6
d.

30

Watch Video Solution

 nC12 =   nC8 =

102. If 
 
 b. 


c. 
d. 

Watch Video Solution

 nCr +  nCr− 1 =   n+ 1Cx,  thenx = r

r − 1 n r + 1

103. If 
 
 b. 
 c. 
 d.

none of these

W t h Vid S l ti

 a
2 −aC2 =   a

2 −aC4 then = 2 3 4

https://dl.doubtnut.com/l/_QjpHYmGQQwbN
https://dl.doubtnut.com/l/_m76p24SRhWZy
https://dl.doubtnut.com/l/_9pXnp09NiTSs


Watch Video Solution

104. 
 is equal

to
 
b. 
c. 
d. 33

Watch Video Solution

 5C1 +  5C2 +  5C3 +  5C4 +  5C5

30 31 32

105. Total number of words formed by 2 vowels

and 3 consonants taken from 4
 vowels and 5

consonants is equal to 
 b. 
 c. 
 d. none

of these

Watch Video Solution

60 120 7200

https://dl.doubtnut.com/l/_9pXnp09NiTSs
https://dl.doubtnut.com/l/_ev3XH7Ppas0m
https://dl.doubtnut.com/l/_jRO1MuzdNmHw


106. There are 12 points in a lane. The number of

the straight lines joining
any two of them when 3

of them are collinear is
 
b. 
c. 
d. 65

Watch Video Solution

62 63 64

107. There persons enter a railway compartment.

If there are 5 seats vacant
in how many ways can

they take these seats?
 
b. 
c. 
d. 125

Watch Video Solution

60 20 15

https://dl.doubtnut.com/l/_jRO1MuzdNmHw
https://dl.doubtnut.com/l/_iXmSXsfmMENX
https://dl.doubtnut.com/l/_YLkQNJGOzN0a
https://dl.doubtnut.com/l/_lyjN5YYD5Pb5


108. In how many ways can a committee of 5 be

made out of 6 men and 4 women containing
 at

least one women?
 
 b. 
 c. 
 d. none of

these

Watch Video Solution

246 222 186

109. There are 10 points in a plane and 4 of them

are collinear. The number
of straight lines joining

any two of them is
 
b. 
c. 
d. 39

Watch Video Solution

4 40 38

https://dl.doubtnut.com/l/_lyjN5YYD5Pb5
https://dl.doubtnut.com/l/_iwV6pUaM42rU
https://dl.doubtnut.com/l/_F2XrRBN3Gcvh


110. There are 13 players of cricket, out of which 4

are bowlers. In how
many ways a team of eleven

be selected from them so as to include at least

two bowlers?
 
b. 
c. 
d. none of these

Watch Video Solution

72 78 4

111. The number of ways in which a host lady can

invite for a party of 8 out
 of 12 people of whom

two do not want attend the party together is
 a.


 b. 
 c. 


d. none of these

W t h Vid S l ti

2 ×  11C7 +  10C8  10C8 +  11C7

 12C8 −  10C6

https://dl.doubtnut.com/l/_F2XrRBN3Gcvh
https://dl.doubtnut.com/l/_bOweJIEtB8dV


Watch Video Solution

112. How many different committees of 5 can be

formed from 6 men and 4 women
on which exact

3 men and 2 women serve?
 
b. 
c. 
d. 120

Watch Video Solution

6 20 60

113. The number of diagonals that can be drawn

by joining the vertices of an
octagon is 
b. 
c.


d. 16

Watch Video Solution

20 28

8

https://dl.doubtnut.com/l/_bOweJIEtB8dV
https://dl.doubtnut.com/l/_tDnJRynh1UAq
https://dl.doubtnut.com/l/_OS4LQ2dqU3go


114. If 
 then the value of 
 is



b. 
c. 
d. 10 e. 14

Watch Video Solution

 43Cr− 6 =  43C3r+ 1 r

12 8 6

115. A lady gives a dinner party for six guests. The

number of ways in which
 they may be selected

from among ten friends if two of the friends will

not
attend the party together is
 
b. 
c. 

d. none of these

Watch Video Solution

112 140 164

https://dl.doubtnut.com/l/_OS4LQ2dqU3go
https://dl.doubtnut.com/l/_qvaAi29rgzSr
https://dl.doubtnut.com/l/_fMtnKRPy3UzW


116. If 
 
b. 
c. 
d. 5

Watch Video Solution

 n+ 1C3 = 2.   nC2 then = 3 4 6

117. The number of parallelograms that can be

formed form a set of four
 parallel lines

intersecting another set of three parallel lines is


b. 
c. 
d. 18

Watch Video Solution

6 9 12

https://dl.doubtnut.com/l/_fMtnKRPy3UzW
https://dl.doubtnut.com/l/_Jyu1ifWztt9Y
https://dl.doubtnut.com/l/_jFtTtJyK5jKk

